
NOx in Turbulent Systems
Species continuity: (steady-state)

If yk is small,                              are small, so

How do you get Wk that is meaningful?
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NOx Measurements (background)



Comparison with Equilibrium (CO)



Idea
Partial Equilibrium

– Some reactions are too slow to achieve equilibrium
(i.e., NO, CO)

– Perhaps some characteristic curve is more typical
(called partial equilibrium)

Assume that the ratio of actual to equilibrium is constant!
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NOx Approach Used in PCGC-3
Define a variable (πk) for the extent of reaction:

Where yk
f is computed at equilibrium from the mixture fraction.  

Assume that πk does not fluctuate!

Where wi(η,f) = rate calculated at yi (= πi yi
f) and T.
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And  πi ≠ function of f, but is constant 
for each cell






